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B.E./B.Tech. DEGREE EXAMINATIONS,
NOVEMBER/DECEMBER 2010.

FOURTH SEMESTER
ELECTRONICS AND INSTRUMENTATION ENGINEERING

ET 1251 — ELECTRICAL MEASUREMENTS AND
INSTRUMENTS

(Common to Instri:mentation and Control Engineering)
(REGULATIONS 2007)

Time : Three hours: . Maximum : 100 marks

Answer ALL questions.

PART A — (10 x 2 = 20 marks)

1. ‘What does a Ballistic galvanometer measure?

2.  How will you extend the range of an electrostatic
voltmeter?

3. Define creeping.

4.  Draw a neat diagram that shows the construction of an
induction type wattmeter.
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What is ratio correction factor?
What is the purpose of standardization of potentiometer
What is the range of medium resistances?

What is the reason for ix;itjally short circuiting |
galvanometer, when measiring insulation resistance
cables using D.C. source?

The resomant frequency of an RLC series circuit
1.5 MHz with the tuning capacitor set at 150 pF. '
bandwidth is 10 kHz. What is the effective resistance
the circuit? :

What are the two conditions to be met for balancing
A.C. bridge?

PART B — (5 x 16 = 80 marks)
(@) Witha néat sketch explain a moving iron-attraci
type ammeterT

Or

(b) With a neat sketch explain a dynamometer typ
voltmeter.

(a) Draw the phasor diagram of induction |
wattmeter and explain by deriving the tor
equation.

Or

: €
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A single phase KWh meter makes 500 revolu
per KWh. It is found on testing as m:
40 revolutions in 58.1 seconds at 5 kW full
Find out the percentage error.

What are the different types of A.C. potentiome
What are the applications of A.C. potentiometer

Or -

Draw the phasor diagram of a potential transfo
and derive the expression for voltage ratio
phase angle.

Explain the ammeter-voltmeter method
measurement of low resistance.

S Or
Iixplain losgof i!harge method for measureme

high resistance.

Find the sefies equivalent inductance and resis
of the network that causes an equilibrium conc
of the Hay’s bridge at W = 3000 rad/s;

R, =9 kilo ohms

R, =1.8 kilo chms




[image: image4.png]C, =0.9 microfarads and

R, =0.9 kilo ohms

Or

(b} Explain Marray loop test for locating earth fault
cable.





